FRIOFEMHADERIALLYBAE

(BAr: 775, M)

B w B £ W | B A o Flvsuy | sman | eEeves
1 [#8/@™ 7513 BB 12,707 [=Bw 3,623 [#&E=t 8867 [ERE&™ 1024 [#MIm 1,095 |F#&m 13,562 [F#Hm 1,305
2 | Kot 7,332 [#ngum 12,445 |#n3ruum 3,563 | #7iBth 8,718 | =Wkh 993 |gi4Em 1,078 [ E Wt 10,768 | FErh 1,234
3 |ERE™ 6,935 [FUHAT™ 12429 | XM 3,330 |sv-xm 8542 [{ABH 993 | =& 1,004 [flET™ 10,669 | ILFsm 1,155
4 [tnmw 6,894 | KiEW 12,201 | KR 3,320 | #LiRm 8,383 [fEf™ 992 |ERFFm 1,001 | X;E™ 10,079 |f83H 1,116
5 | =5 6,776 | BT 12,174 |#UTh 3,248 |FiET 8367 |[damm 990 |#ET 978 [#LiRT 9,789 |=m&RE 1,098
6 |EEARTH 6,773 |=WUth 11,972 [{EE™ 3,201 [T 8,166 | BExh 985 | K:ETH 970 [=Wuth 9,560 |FkHETT 1,056
7 [1#E&m™ 6,643 IO 11,895 [ Ko™ 3,175 |#&;ETH 7,980 [#Fulm 976 [dhmm 926 | EETH 9,442 |kt 1,051
8 [ K= 6565 | KHam 11,892 |[LE™H 3,120 |[FHEt 7,795 | EEm 963 =Bt 907 [#Th 9,375 | £iR 1,043
9 |#fn3xLm 6,562 | =H#ATH 11,832 | =&k 3,058 |B&fH 7,769 [/kKEm 955 | EBfm 905 [dtamm 9,080 [fEET 1,035
10| #33Th 6,550 | =4%Ath 11,821 | & 3,047 |{lEth 7,638 |#MiEEs 952 | EUE 905 |FriEw 9,010 | F&fEH 1,021
11| =& 6,434 | FEm 11,819 [damm 3,040 [Ex#HE 7,617 |FFHEM 922 | FEFH 902 [KHtH 9,010 [#HEEH 968
12| BER™ 6,393 [#AUth 11,768 | &=#Amh 2,891 [;E#ATh 7553 [fEEt 921 |suv==wm 881 |#Fulm 8,949 |dL=#Fm 961
13| B/ 6,336 |=B 11651 | #h 2836 |[{@Bm™ 7,516 [#uh 909 [{E&ET 872 |[{£EH 8,904 |ZEuth 957
14|t EtH 6,201 | B 11,499 |[#Fth 2,795 |BERAth 7,500 |fEAm 903 [m==#Ex 871 |FEh 8,839 |fEET 940
15| =t 6,180 | Kirrh 11461 |IlLOt 2,784 | BRFth 7462 |IEEtH 903 |fEARth 864 | FIEth 8,749 |#EEth 934
16 | E%0th 6,134 |[EE™ 11,313 | Bl 2,744 |#ngwm® 7,318 | Friam 892 |fE2m™ 845 [/KEth 8,743 |#=m 929
17| [EB&T™ 6,115 |[dehmm 11,175 |EEART 2,659 | FEH 7283 |=BH 890 |€Rti 844 | =T 8588 | B 917
18| #LIRTH 6,000 [{E&t 11,151 [f&flTh 2618 [f@fT 7.252 | K/ 889 [#wiEEm 839 |=WsTH 8521 [JKET 898
19/ luO™ 6,073 | EMETH 11,096 [fEET 2597 |#Ih 7,249 | IUfistF 875 |[#nzmum 837 (LAt 8417 |E®HmH 861
20| =B 6,053 |E&RT 11,060 (S50 2,560 [ KiEH 7,221 [ #EHh 867 | ZmERth 832 |#sluth 8,417 |ERth 856
21 [#3lth 6,021 | B¥RE™ 10,982 [ILfigth 2,555 [EiRem 7215 | 4L 863 [+#=m 818 [MlA™ 8416 [#Lig 835
22| By 5,994 | ILFsth 10,955 |E=#K 2,490 [KET 7,139 [EEM™ 850 |[ERew 810 |[LEth 8,303 |&FHiBth 797
23 | KB 5,984 |8 10917 | EW&TT 2454 [[LE™ 7,096 | KPR 849 |[#Fm 807 |[#;Em 8,258 |JI&m 781
24| Il 5,950 | #35Tmh 10,897 [ )& 2,354 |#=w 7046 |m#m 845 | KH™ 803 |=ENth 8,204 |[[LET™ 769
25 |+t ET 5942 {82 10,815 |83+ 2,348 | E®m 6,931 [#mM 843 [Mud 799 =B 8171 [{WEmd 727
26 | #\ATH 5,804 |[EE&™ 10,776 [ERE® 2,343 |#ET 6,879 | BH 839 |JkETH 786 |EE[ITH 8,047 |[#Uth 724
27| #5669 | =S 10,774 | BERTT 2,329 | KBRTT 6,877 |=uT 837 [&#m 772 | KBRT 8,008 [ERE®m 724
28 | 82T 5,535 |[U&Th 10,688 | FE™ 2,314 [T 6,862 [#=mEm 830 [f88™ 770 |gid™m 7,809 |FILUT 706
20 |FEILTH 5518 |#E™ 10,688 |€;R™T 2,288 | /T 6,831 [[LE™ 829 | KPR 756 |€Rm 7,798 | =41t 664
30 |=n=xm 5514 |$7iBH 10,607 |#&Eth 2,213 | =WsTH 6817 |EBT 828 |B3Fm 751 |#&EEd 7,749 [;E#dTH 662
31 |Em#X 5490 |FREF;™ 10,605 [FILUT 2,210 [45=EW 6,805 [ILAO™ 820 |[ELUm 751 |FfFm 7,724 |[#Fw 650
32 |#&EThH 5457 |[#mEm 10582 | FEMH 2,183 | Ko 6,793 [#T 815 [ )1l 747 [#mEt  7.697 [lLOd 636
33 |EERAT 5444 | EBTH 10578 |IKEm 2,178 [IuOT 6,759 |FkMET 805 [#&mET 739 | | 7583 [EERT 632
34|2E=BH 5407 |;EXATT 10499 | F&Hm 2,169 [EE™ 6,741 |€iRt 796 |B5&T 739 [=#A/ 7,506 |fmud 628
35| FEFEMH 5,400 [F#=H 10,456 |#3Th 2,158 | =#smh 6,622 [#8Et 790 |EEmth 737 |[#&Fm 7,395 | KBRth 624
36| $r:2m 5,153 |#MEET 10,454 |#mEET 2,136 |giiEth 6,611 [gI4Et™ 786 [#dums 733 |f8fth 7,362 | =#¥Ath 620
37| #EBEH 499 |/KE™ 10371 |sur=#m 1,955 | =IUTH 6,600 |avrxw 777 |&&Ed 723 |f@HT 7,322 |#MAIH 597
38| &F#H&™M 4903 |ETH 10,330 [{iEt 1,890 |[£Rt 6592 | KEth 776 |E&th 714 |[ERaw 7262 |[&EBH 5%
39| IuFsTh 4,824 |[{EET 10,132 [&#==W 1,786 | =401 6,492 [#;EM 763 [ILFgTh 706 |=#=m 7,194 | K;EmH 581
40| KB 4,665 | fLIRTH 10,109 [=#m=d 1,747 |FEIUd 6,480 [T 761 |[GEH 703 [mx#Hx 7,116 | R 578
A1 [@=h 4,627 [su0r=Em 9,912 |E2RA™T 1,698 [Z=B 6,388 |[=#ATh 760 [(uOm 702 | E® 7,101 [BEAT 575
42 |;EATH 4,602 )T 9,911 | ERRFmT 1,694 | IUFsthH 6,287 |mm&mKE 751 |BERT 702 |svr=m 7061 |8wEMH 547
43| EBFh 4543 |[MIUT 9,909 = U 1,671 |ZRERT 6,254 | =%0TH 746 | #2701 [;E#ATH 6,896 [dthmm 532
a4|ZIUTH 4519 |gIdBTH 9,877 | #LIRTH 1,658 |AEATH 6,246 | F= 739 |{ua™ 697 |[{EET 6,853 |m&™ 528
45| £iRT 4,402 [#;ETH 9,704 [FET 1,640 [dtnmm 6,232 |EHFFH 738 |[JE#ATH 697 |[IEBTH 6,822 | Ko 527
46 | uET 4,368 |£iRh 9662 |[JKEM 1,538 |BETT 6,216 [;EMT 734 [{EET 666 |IUFisTH 6,800 | KT 497
47| %8HH 4358 [ FZE™H 9,640 |;EHT 1,420 | EHnth 6,166 | )& 727 |IkEt 660 [JIIGH 6,769 | iFEm 489
48 | BFFTH 4,314 | &[T 9,486 | I8 1,378 | =t 6,164 |{f@8HH 685 | & 646 |BEARTH 6,579 | =l&H 478
49| I ETh 4294 |83 9400 | R 1,317 |kEtH 6,069 |#=m 678 |FvE™ 633 |[FEILUT 6,528 |IE;EH 475
50 | ARERTH 4,187 [ABAT 9,336 [#EET 1,251 [EM™ 5900 [{uEd 675 [4LiRm 627 [&#%Ed 6522 |IEBEH 474
51|85t 3,996 [Es#K 8,960 |FIE™H 1,229 [#8Hh 5631 [#FtH 655 ;& 625 |f2 BT 6,296 |fafE™ 446
52 | BidE™ 3,922 | BFF 8,357 | R 1,036 |{EE 5466 A&t 371 [T 617 [FFmds 5329 [{EEH 415




